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Graphing Quadratic Functions

Ol axii [ Characteristics of Quadratic Functions |4l Al Sbll sl Jilas sl g eyl i 8

s sally Jlaal) aaa | Alaleal) an 1 88N J g2a (8
Use a table of values to graph each equation. State the domain and range.

y=22+4x— 6 y=x>+2x—1 :
"ly t X|y B
5 4 -2 -1 P 4 5
=i "

5 5 -4 1 4
(.“.AAMZ 6 dté_d\: -1
= =7
LS-\AM R LEJA]\ 3
y=—x>+2x+1 y=3x"—6x —2 -
s |y 3 f

-2

4 2 -1 , ? 4
Jaddl - :: BENI _.:
. =5 2 - =4
sl S St s
-8 -6

Find the vertex, the equation of the axis of symmetry, and the y-intercept y ;gaa ahaiag Jilaill ) gaa Adalaa g (ul ) ddads as

of each graph.
4 N Y ty
\ /
\ /
[l 11\
| \ x [l 11\
J1 1o\ X \ f | \
j 0 l X
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Find the vertex, the equation of the axis of symmetry, and the y-intercept
of the graph of each function.

y=—3x2+6x—1 y=—x2+2r+1

y=.1'2—4.1'+5 y=4x2—8x+9

Consider each function. < Ad)a U8 s
a. Determine whether the function has maximum or minimum value. ‘ o )

Soua gl abie dad ANall (1S La das
b. State the maximum or minimum value. s ual) g palinll el e - o

c. What are the domain and range of the function? § Wlaag A Jaa La - >

y=—x2+4x—3 y = 3x% + 18x — 21 y=—3x%+ 6x + 3
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Graph each function. 2 A3 JS any)
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Yy = —3x2+6x—4

s

Both 1o & R

flx) =3x%—6x—1

s

Both 1o & R
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S || || , | |
i S S A B
N2 E 2
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15 i |
‘e 5 R T R T T N T
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. 5
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7 I°r
& B |
| 9
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h= —16r?'+135\_r\". Telog)) 8 Sos Eosbe LSa oS a0l o

———————atal

ol o Ligw Lo e 8,8 asalbh gl )¥ h = —161% + 47t + 3 aladd) Jis ) guisedd!
Telogl) 3 5,8 iSs oS

Asladl elggd) 3 calga 5,5 gl Jidas oSe Jutedd)

fils AL KAIELSI e ) (A3 .h = —16t2 + 76t
Telggll (9 5,801 cise oS L@

95,50 Lwa3¥l els,¥ L b

Trad¥ Lyelssy) ) 5,801 Jazw is .C

glasy) le 3,50 aand couwa¥s aslid) 355 ft e ¥ 5,80 Lol Gl S 13)
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Write a quadratic equation in standard form with the given root(s).

A L)) ddeadls dau 5 Aislas oS

— 7 31 e

8,5 7 > 3.4,0.6
Factor each polynomial. A N B (B
35x% — 15x 3x% — 12 18x2 — 3x + 24x — 4'| 48cg + 36¢f — 4dg — 3df
Solve each equation. cadalag (IS (fou
x2—36=0 122 —18x =0 1292 —2x—2=0 , 2x%— 24x=-72

SENSE-MAKING Tamika wants to double the area of
her garden by increasing the length and width by the

same amount. What will be the dimensions of her

garden then?

9m

33k Lmmas dslie caclad o a3 Cewl deadadied!

€15) Lmmyas alal gaSiw Iile camains jlanadly go,el) 5 Jakal)
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OB s (13 calalead) ohaly o3 Slleslt olal; o3 gl g oyl i

! Fooilsal alael) e -
AS ) alae¥) e ey
Simplify. )
V—81 (44)(—31) (12 + 5i) — (9 — 2i) (10 — 74) + (6 + 9i)
1:25 1-'53 I"—'l-ﬂ —32
(—3i)(—7i)(2i) (3 + 5i)(5 — 3i) (1 -+ 28)(1 — 2Zj) 3v—24 - 21/—18

ot

]
_I_
I-l_'_—'h
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Solve each equation.
x*+4=0

3x2 + 48 =0

¥ alagd) S JS Jo-
6x> + 108 =0

Find the values of # and b that make each equation true.

da+ (4b+ 2)i =9 — 6i

A Alolas S Jasi il b g 8 pgud asgl
2x+7+ 03 —yi=—4+6i

V=Col Ualag posuiwl el gilf

q_'._s_-..._“ 3 L:I 'n.;.l 5‘ _j‘_ra &.qg.L]Lo.J]E _.:..,._..;l 3 =+ ﬁ'j# 5';-,1_: uj _.IL_-"-II

L) gals .09l 6 — 4y o dagladly .oty 20 — 12] 50 5505 3 aysl)
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X2 4+ 22x+ ¢ x2 +9x+ ¢

¥ a3 3] Epdie (e sie Bl ] 3B g el JLeSh Aslae S U
x2+4x=6 2 — gx= —9

2 =
—2x*+10x+22=4 4IE+?I—'1=D
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A = 45 in?

xin.

(x + 8) in.

EL.JLT».LaJ‘ Aaaan] ’ | g’_;_‘_;z" _;_?.91
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Aoa 3 fopeal) plalody A 3 ¥ aal) Ja -1 |l g g s 8

Ao il Adaall [ gda £ 639 230 2aad! Jraal) aladiad -2
Solve each equation by using the Quadratic Formula. .dway ) Gdcal! plosdwl dalas JS Jor
x% 4 45x = —200

32— 4x — 8= —6 12x%2 4+ 9x — 2 = —17

Complete parts a~c for each quadratic equation.

sy 3 Wslas JSI A—C el ¥l JoS
a. Find the value of the discriminant.

el ded iyl 2
i) £4h g 20k o b
Ao ) Aduad) plasiisl Zadud) Jalod! syl €

b. Describe the number and type of roots.
c. Find the exact solutions by using the QQuadratic Formula.

222 4+3x—3=0 ¥ —6x=—9 2x2+4x+7=0

alllacam@yahoo.com 050-2509447 e ilhas LY Jlae)




)

bty 2| 1 gd) S 3 gnd
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O A ap

Apag Al Jloadl e Bl Gadas =1 | olail g oyl 8 8
A Jlgadl e lul&ai¥lg oliday sla¥l olpeis Gubas 2

g =5+ x?

J(X) = x201al Sld) Jéedl Wiy Js) P! i) play S o
flx) =x2 —7

gix) = (x — 3)2

gx) = (x + 2)¢

gx) = (x + 2)3 +3

gix) = (x—4)2 — 4

h(x) = 5x% — 2 gl = 3x% + 2
hix) =2(—x)2—9 JOO =—2(x— 1% -2
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lf=_312_2 y=—12+2 y=(2x+ 6)2 —
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L |
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y=ax — h)Z+ k 8,sall b iy 5 ds 1
y=ax— h)?+k 8usal e Ly i g gall Alal) p e ) B gas -2

Write each function in vertex form. ol ! ey Wi S iS)

=
y=x"+6x+2 y:—lrz—l—&‘r—:"?

s h ol cililaa)

:gA)EUﬂ\JJMRJJLu

s h ol cililaa)

:gAJBUﬂ\JJM:\JJLu

y = 4x? + 24x + 24 y = —2x% + 5x

D A ol clilaa)

D h ol cililaa)

;@J.Bl.muwhﬂu

:ngBUﬂ\JJM:\JJhA

k) o) B asinge 08 YA e ] d0ata (o jLas Y

(=3,8)1Y
Ay=—@x+3)2+6
TTIN By=—(x—232—6
(=5, 237{ Cy=—-2x+3)2+6
] \l || Dy=-20—3)2—6
e
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Which is an equation of the function shown in BEE y
14
the graph? | (~4,13)% |,
9 10
F 1;:2—q{1—1}2+2 3
3 I}
G y=%@x+12%2-2 4
¥=% 11 |
H y= %(.1 +1)2—2 —10—-8—6—4-AQ] 2 4 6x
T =1 -2 [ ]
J y=2—1)2+2
Graph each function. Lolu dla JS Joo
y=(x—"52%+3 y=—2(x — 5)2 y=—+0c—3)2—10
¥ |
8 L1 2 345 8 7§ 8x 32 - 1 2 34 5 6 7 8
8 1 y i i S
7 -2 "2
5 -3 1 |
5 -4 ™
4 = 2
3 =5 5
5 -7 =
4 =8 e
. _ -9 -
1 2 3 4 5§ 7 8 9x Lo

Write an equation in vertex form for each parabola.

|j-" A [

Vol adad US) ) daw Adslae —aSi

10 (7,10) P80 .

8 0 A M X

: /LN

4 . A
) 217 (8,1) If “\
-3-5-4-z|0 2 46 8x ] 6, —6)

—4

_ | \

0 Vi ¥
alllaaam@yahoo.com 050-2509447 D _ilhias MY dlac)




: oY)

—_— ,}.’
e i) Sl Ll adiial) Hdlal) Chal) Jas 48

+ Qi A A UL Gy Vs () -1 |l g a0 3

» oiiay L i) cliliall Sa aa gl -2

Graph each inequality.

‘r;£.1'2—8.x—|-2

cAiglce S Giko Gy (ol

Lr;}.xz+-:ﬁx—2

x v x v
yl yl
~ 0 X - o X
Y Y
y=—x?+4x+1 —x2+12x— 36>y
x|y
x|y
\y yl
|-l _a
O X
- .
0) X
Y Y
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SENSE-MAKING Solve each inequality by graphing. dasLuJi paw | s plo (e Ayl S [ oo gl J,a=‘£1 faudo pgd

2 _ & /
R X%+ 8x +15 < 0

Yy
5
F: §
3
2
- S < .
L
7 5 -4 -3 -2 -l .
-1
=3
>
42 +12x+10<0 Cax P+ 3+ 3Z0
1 5
8 2
?- i
L
B
-3 -2 - 2 4
- 4 1 _1L B l
- d -
=a
2 -d
1
-5
-4 -3 -2 -1 1 -B
—t—1
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Solve each inequality algebraically. chalde JSJ 0 e [T o
x*+6x—16<0 x* — 14x > —49

—x2 4 12x > 28 X —dx <21

ﬁ(m) = - a? o6 +1, Wl aliiai (Ko (8180 e JSa e 5kt JSE e J e Jade 1 A lazal) daig)
¢ Y e ol 7 pla ) e kil als aey 8 e
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dalad 3 ol US o dmse dog 4 ahad Gk G Bsdie 505 o0 guualdl
13) el o e U3 a9 soaed) G59l) e A e

e i) Lo gosial) g Jis V(X)) = 4x2 — 64X + 256 als

o) oS ¥ gaaiall pas oS 13) ala¥l geadl 5ys)) dakad sla) ade o35
QacaSe dung 750 jalss

'
b=
L

4 4

Write a quadratic inequality for each graph. el amy JS dure 5 Adiliia IS

1y
-2, E}iﬁ *{a. 0
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P Al s sgazdl i€ e Sldeall

adliall pdlad) Chal) Jas 43 )

. 8,90 bV g8 (sle Sgixi sl ywledly 3zl GLslsT Jugmis domudy Lyo —1

393l OlLS O yog 2ibg Ro> — 2

alcill yilgi

oaie 50 dawl 3 asdl oalsd nll g%
PO L UM PR JRESOR B

1asd sasly 3,0 gulal JS 4l e

30 dawl (3 59l e (eSS 0

cidls Guwl asgs ¥ e

Simplify. Assume that no variable equals 0.  .Jjae golus pile 4f 2959 pae o 2l 5 e ¥ i

12x%y? (2n3)3

{2”351—3}(—4,’33,{]4} 3

2xy”

(6g°n~)°

gl & A8 dovya SH0 EUAS GIS G 2gdor 58S gl S GIS o) Le 20

Determine whether each expression is a polynomial. If it is a polynomial, state the degree of the polynomial.

3x + 4y %_1'2 — 7Y x2+vx ”i:: 3
Simplify. e dawdt 5
(x2—5x+2) - (3x2+x—1) (3a + 4b) + (60 — 6b) 2a(4b + 5)

3% 2xy — 3wy + %) (n—9)(n+7) (a+ 4)(a —6)
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o G il g o) oa5las o sles s psadl B 8285 75 aaa) B3ed 5 (Ryed
G EaBs X s ColS 13) anly par B Ajed Le3,e0 all dp)ed) ol el BeS il sgas 8,88
JEY oy
EXERCISE Tara exercises 75 minutes a day. She does cardio, which burns an average of 10
Calories per minute, and weight training, which burns an average of 7.5 Calories per
minute. Write a polynomial to represent the amount of Calories Tara burns in one day if K

she does x minutes crfweight training,

Simplify. Assume that no variable equals 0.  .Jjae golus pile 4f 2959 pis o 281 .5 g Jaws¥ J3o
) \* Vv
y 4

Qa’ B
(2 + b)(2a + 3b)(2x — y) 18a%b%c3 0
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_rAwd sy ?M\ Sdlad) ciuall Jas 48
. gholl domil! plazsiwl s9azdl WS douwd -1
 8unsS,H il o] plazsiwly s9azdl WlyiS douwd — 2
Simplify. da
2 2 - vy
dxy® — 2xy + 2x%y (3a%b — 6ab + 5ab?)(ab) !
XYy
Divide using long division. alshagll dpwnl) alasaul gl

2* =328+ 222 — 4z + A)(z— 1)~ (y> — 3y* — 20) + (y — 2)
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Divide using long division. gladl dewnl) plasaul guwdl

(x%2 — 6x — 20) + (x + 2) (202 —4a—8) =~ (a+ 1)
Use synthetic division to find o ¥ LS S deudd) pasiiu)
(z* = 32° + 222 — 4z + 4)(z — 1) ! (y° — 3y* = 20) + (y — 2)
|;3+11:;3—101;-|—6 %4—“2—18; — 2
ﬂ | . ;T — 3¢ )+ (g —2)

Y+ 2
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Use synthetic division to find

.'Ihuﬂ? oS il | s | Ild.‘il-".'n'.wl

(2b3 — 6b% + 8b) + (2b + 2) 6> +5x2 + 3 — 3x2 4+ x

3x + 1

ENERGY Compact fluorescent light (CFL) bulbs reduce energy waste. The amount
of energy waste that is reduced each day in a certain community can be estimated by
—b? + 8b, where b is the number of bulbs. Divide by b to find the average amount of

energy saved per CFL bulb.

235 3Se s ALl 3 ugll e (CFL) dyeasd) dxlagl dsgiall gulad) Jlx dladl
twladl sse blgdy —b? + 8b a3Mall Lo anlaie 3 pgr JS dysapell 3La)l 25 b (alasuy)
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PAamd pasy) seasdl S Jlgdl pdlial) plal) Cial) Jas 48

3925l 6,38 Jlgl doud sl -1
393l 8,58 Jlgal) dslid] oMol aolell JSLaVI s — 2

voeiad| Tl (avlg pdie 1D dgdav 8 pAS (K5 pd 13)g dovlg gl 13 dgdox §pdS JSI b ) Jelaedly dor yad) (S35

State the degree and leading coefficient of each polynomial in one variable. If it is not a polynomial in one variable, explain why.

11x° — 5x° + 4272

—10x7 — 5x® + 4x — 22

Txl 4+ 37 — 847

8x° — 3x2 + dxy — 5

Find ww(5) and w(—4) for each function. Ly 4S8 w(—4) ¢ w(5) ..u;,i

wix) = =2 + 3x — 12 wix) =2 —5x* + 322 —2x+ 8

ed S gl A =332+ 60— 10 g ) = 4xr3 —5x 2+ 2 yis 13
If clx) = 4x3 — 5x% + 2 and dix) = 3x2 + 6x — 10, find each value.

() —4[d(3z)]
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If clx) = 4x* — 5x2 + 2 and dix) = 3x2 4 6x — 10, find each value.
6c(4a) + 2d(3a — 5)

For each graph, (Ple i Jsd

a. describe the end behavior, ¢93,.th Yol oo .a

b. determine whether it represents an odd-degree oy gl el S Lo 13) 23> b
or an even-degree function, and Ao )t durgy of dpasd W

¢. state the number of real zeros. Jadsd! jlue¥) sae S5 .C

f(x)

MY

[V 2V VaN
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R T el dgamdl 538 Jloall Aol colianl iy adiial) pdlad) chiall Jes 48 )4

o LoVl Sl suasis Lily sgasdl 6,8 Jlgadl Juioi—1
399l 8,8 Jlgal) dcid] Sy2ally (sodaall pusll sl 2

pall Jgas slae) @ o e Lils 3gas 3,38 Wsles S s

Graph each polynomial equation by making a table of values.

flr) =2 =53 +x2 —2x + 4 flr) =3 -4 — 2+ x—4
[ [
x| A x| s}’
6 6
4 4
2
—8—6-4-20| 2 4 6 8«x lS—G—d—?O 2 4 6 8x
|
—4 —4
-6 -6
| f 1

b (Ll g ) @ A S s e S Lo ads ) X puowad] ddal) Alayd) pudd) sds

Determine the consecutive integer values of x between which each real zero of each function is located. Then draw the graph.

flx) = x?— 22 4+ 5 flx) = —3xt 4+ 5xF +4x2 + 4x — 8

(8] X
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A S Guedly Jloned! 2dar (g piuadly (ediad] (L) (jliedad! Ladie JSIS (I X jeomed] ildlaa| ;3B Ly 2gdoudl § .88 Wl S e
Graph each polynomial function. Estimate the x-coordinates at which the relative maxima and relative
minima occur. State the domain and range for each function.
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Al ) ds jal) oro Alal) ddawlss dxenad) ol 2 W Agid) cilan ) Jis 5Sa (gadaced) ghliw Y
Jicis 1995 ale say gzl sse X Jio Lyady . flx) = 0.48x* — 9623 + 53x2 — 49x + 599
G Ml dsge o) eslan ) fUx) allad)

O0=<x=<10 e Bl alall s .a

Lasie aBlizy ol wlim 2l ) zally 8 Aall aSslug (ALl fiesl) )yes balas can b

aal A cilaced ALl Jial bys mmy o2l culalss®) e X =12 0= 11 aldl 2ol (3 sl €

Samousl!

T Salp ¥ ) eles¥) e ol Gabasd) e Ja -d

SENSE-MAKING Annual compact disc sales can be modeled by the quartic function
flx) = 0.48x* — 9.60% + 532 — 49 + 599, where x is the number of years after 1995
and f(x) is annual sales in millions.

a. Graph the function for 0 < x < 10.

b. Describe the turning points of the graph, its end behavior, and the intervals on which
the graph is increasing or decreasing.

c. Continue the graph for x = 11 and x = 12. What trends in compact disc sales does the

graph suggest?

d. Is it reasonable that the trend will continue indefinitely? Explain.

800

760 1100
720

680
640

600
560

520
480

Sales ($ millions)

440
400

0 123 4567891011X
Years Since 1995
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_ el ) Szl B pdS Eolall paiial) jdlal) Chual) Jas 48,

Jolse | sga=dl wlhsS Jud=s —1 | NTRTRE
dolse (Ul Sl plaziwl sgazdl oS ©Vsleo J> — 2 (RS

UmSo £9ox0 a3+ b3 =(a+Db) (a?-ab + b?)
UmRSo 99  a3-b3=(a-Db)(az+ab +b2)
WA )0 99 a2 - b2 = (a + b)(a-b)

Ayl S Jaleadl I Jebonil) ZLE G ol 130y .2 e ¥ Lplelae ) ZIEI 3gan) il a8 S

dax + 2ay — az + 3bx + 2by — bz 2kx + 4mx — 2nx — 3ky — 6my + 3ny
253 + 5y 169>+ 213
6.2 _ 16,2 y? — 8x3y + 16x° + y° — 8y* + 16y°

8c3 — 1254°
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x4 —19x2 448 =0

A S¥alagd) e US o
x—33x24200=0

x> —64=0

x> 4+27=0

Oxt — 27x2 4+ 20=0

Sl 13) a5 Ay gt S IS

xt+12%x¢—8 —15x* + 18x* — 4 8x% + 6x°> + 7

5x® — 2x¢ + 8 o9x® — 21x* + 12 16x'0 4+ 2x° + 6
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D dand gy Jalalls Bl Ly las adiiall yilal) Ciuall Jas 43 9

oS il pavgeidl plaziwl e sgazdl 6,080 Mole (pazdl wls olS 15] Loz — 2

Use synthetic substitution to find f{4) and f{(—2) for each function. .idls J$3 fi—2) 4 fi4) dbul eSS A panead) pasdul

fo)=2x3 —5x2 —x+ 14 fx) =x +8x3 +x2 — 4x— 10

2.5 oY) Basaa)) ¥l B Gadisd 2l clalall jewcd) £lo3¥ Gusanl) sas)) (Lis Se dasdaldl
1970 ple dus ilgiwd) sae X Lasdy P(y) = —0.163° + 15.83x2 — 154.15x + 1147.97 b
12018 ple Lpsdys oS il elaliadl ol o atitiad) 2lg5¥) sue Lo

Jalgadl A0 ..a.-;-ﬁ dglolgs ..u-'i', 2gdor & 548 alasiul

Given a polynomial and one of its factors, find the remaining factors of the polynomial.

xP—6x?+1lx—6;x—1 2x3 — 5x2 — 28x + 15; x + 3
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Y T PO }u_g‘g@ JeReS| adiial) ) Chal) Jas 43

gzl 8,68 dsles j9i> g9i9 dac =i —1
S92l 8,8 allodl lasl slew] - 2

Ageoig yodol 30 ,S3) . Aalee JS o
x2—3x—10=0 34+12x24+32x=0

Lad

16x*— 81 =0 0

|
2

|
oo

Ay S B ado) jlae ¥ saey Al Aadsd! jlue ¥ sdes Jeined) dor aed) o) jLus ¥ sas S5

State the possible number of positive real zeros, negative real zeros, and imaginary zeros of each function.

f)=x>—-2x*+2x—6 fx) =3x"—8x> + 2x — 4
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Find all of the zeros of each function. W13 S sl pus domgl
flx) = x* + 92 + 6x — 16 flx) = x* — 6x° + 9x% + 6x — 10

allasgl! _,Lnn‘l‘l g (5088 S diSge ddr 32 _,..l.ahg AudolSS O dolae D13 2gaand) & piS s =iy
Write a polynomial function of least degree with mtegral coefficients that have the given zeros.

4, —1,6 —4, 441
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R sy adiial) pdlal) Cimall Jas a3
393> 8,55 &l @Sowd| @il eVl auaxs — 1 P;L-,-,,a;,gi

5950] 8,48 &l apaid] HlaoVl geas sla| — 2
Ay S Sl it Lao ¥ g SBI

flx) = x> —6x>—8x+24 fl) =2x*+3x* —x + 15
Adla (S JL'u.oi B> .u”i
flx) = 8x3 + 14x% + 11x + 3 for) = 4x* — 12x° + 25x% — 14x — 15

P ;‘« A | 24 St { 4
“alllacam@yahoo.com 05v's3509117 PO/ R I=ve=v IR B AT
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R T RN Jladl de mlilaall paiial) pdilal) ciuall Jas 434

Jlgal) @ousl 26lg U yall 2obs 9,alls £ gomeoll slx] —1
gl S slswl - 2

et of el gl 3d o agg dy 5600 SI8) i s ({) () 8 <D0 & 4 = D+ D) 30b um g

fx)=x+2 g(x) =3x-1

S pe W1a JSI (giedly Jlonadl 38 B3 as OIS T Of o f0 B Rasd gl ol Lea (uila USI
f={(2, 5), (6, 10), (12, 9), (7, 6)} g ={(9, 11), (6, 15), (10, 13), (5, 8)}

RS o 1D JSI gugdly Jlomgd) duo (B39 g0 SOLS 13) Jgof](X) o [f© EI(X) deud ool
f(x) = £8x
g(x) =\5x 26
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L o) L Sall Jlgudls LEMa paiial) pdilal) Ciuall Jas 48 )

a8\l ol &loal jweSso slaw] -1
V ol OlowSleio wlsMsell of VLI <olS 13] Lo auass — 2

(b Leo 483Le JS gwaSas domgl

{('91 10)1 (11 '3)1 (8’ '5)}

Lol v oSaeg adla S ﬁ.n P ik oo alla (S wesSae ..}..-p.-ﬁ

L]

g(x) =4x-6 ;

o # o

[

1 1 1 [
r-1 n (}1 = g

¥ gl pai COS) LS laie Gidls e peas Jlodd) (po o) US OLS 13) Le duo

f(X) = x- 7 gx) =x+7
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__tAad ¥ oLy sl sl Jleo adiial) ydlall ciuall Jas 48

b Lly wnm,dl iall s s —
Wl syl )izl olulae Juies — 2

flx) =vVx—5

LAY S gaedly Jlowgd) 33>

fix) =Vx+8 —2

(Gedly Jloned) S3lg Like s US Sie

flx) =/x — 2 flx) = —\V3x—5+5
1y B
: [, 4 & B 7 8 gy
1 _1|-’! P 8 9dx =5
il dulie JS
f) =vVx + 4 filx) < —2Vx + 3
v 1
: I REEEEE
1L:! 3 4 rEEx: =g
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Al spa) adliall pdlad) Chal) Jas 43 )
8,90 bV Heixdl Jug=i — 1

7 293380l i) psls plaial - 2
|@_‘ {/Ei*—[n_mj Byge e Ji>
+1/100y° ~V49u8012
(v —6)° V/16g1H%
\—16y* /642y + 1)18
V=(y =9’ ¥/32475510

gyl Jilee G Led S G AU Aewls pasuivl

o
oo

—\/76 | v/ —43 V71
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8,00 bunY &3> Hulei e — 1

=‘,-,':' pladly daud! ! |:0a ..l.'i...” ols 13)

G
o/pr—* /b* Lpsoidg lps pog lp> by duyixll Huledl o> — 2
e dand Jio
\/c_5 4] dx.
Ve z
4\/525x V12543 3¢/36xy x 24/ 632>
\/3x3y2 x A 27xy? 5V/32 + V27 + 2\/75
(83 — 2v/2)(8V3 + 2v2) 6—V3
V3 +4
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3> ol ol JSCi (09 8,00 bunY suledl g — 2

Al 590 B jdor S CIS) gl dy)dor )00 D el JS CIS)

1 3
10% x5 V15 \/ 7x5y°
(gl Lo et S Lo S
1 1 2 24
3433 32 5 1253 —
42
: g0 daw¥ i JS Ji>
301 x5 B
4., 2 1 11
a-xXd IE c2 B3
4f o 64 1
98' 2 1
Vi 5
g2 +1
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093> csle oSy sl islenll J>— 1 | NTETIEY

93> (sle oSeiz sall wlpluiell > -2

G Y alagd! o JS Jo byl

1 1
r—4+6=10 2+ 4z2 =0 (4y}§+3=5
Vx—2=3 V2 —7 =+t +2
A Qlglaed! e JS Jor dorgl
Vax+4-5<4 6—\2y+1<3
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y=5x+3 —Q 3k — 4y =16 2 - 5=y
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4y + 3y = —2-’-.1 —> o —3x— 8y =12
=Ry 4 12v + 32y = —48_ |
31=-24 ~4x [T '{:___I 8y =12 *3x A i
G- e g
= {olt L & ;
im & = a
"’23 s =6~ EI | / = 3J =i |
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Write an equation in vertex form for each parabola.
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Solve each inequality algebraically.
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Simplify. Assume that no variable equals 0. Jjae gelay sile ‘;1 2>y pius ue bl 3 ) gee Jauast 3o

(20%0-2)(—4a%b*) 120%y? 247\’ (6054
2n ?5 | a<h ?l'y':’ % T p { ral ) b,
e i {
Ak |7 g 8a_  |.2164 h
33 27 b* o &
_ 2164
. - _ F hm_

Yyt iy dS i ya SIS oS R LSETEES B paS pead 5 oS o) Le ada

Determine whether each expression is a polynomial. Ifitis a polynomial, state the degree of the polynomial.
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EXERCISE Tara exercises 75 minutes a day. She does cardio, which burns an average of 10
Calories per minute, and weight training, which burns an average of 7.5 Calories per
minute. Write a polvnomial to represent the amount of Calories Tara burns in one day if
she does x minutes of weight training.
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Divide using long division.
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ENERGY Compact fluorescent light (CFL) bulbs reduce energy waste. The amoun \®/
of umrg\z waste that is reduced each day in a certain community can be estimated by
—b? + 8b, where b is the number of bulbs. Divide by b to find the average amount of
energy saved per CFL bulb.
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State the degree and leading coefficient of each polynomial in one variable. If it is not a polynomial in one variable, explain why.
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] E 4
3x° 4+ 6x — 10, find each value.
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Determine the consecutive integer values of x between which each real zero of each function is Jocated. Then draw the graph.
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flr) = x>+ 9% + 6x — 16

Find all of the zeros of each function.
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